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| Year B.Com. (DCC) Examination, August 2016
(DCC Only — 2013-14 and Onwards)
COMMERCE
1.7 : Quantitative Methods and Techniques for Business

Time : 3 Hours Max. Marks : 100

Instruction : Answers should be completely either in English or
Kannada.

SECTION-A
Answerany ten sub-questions. Each sub-question carries two marks. (10x2=20)

1. a) State any four uses of statistics.
b) What is base year ?
c) Give the meaning of tabulation.
d) Name any four objectives of classification of data.
e) If X =38.2, M=41.6find Z.
f) State the uses of cost of living index number.
g) How range is calculated ?
h) What is ‘false base line’ ?
i) What is meant by extrapolation ?
j) Give the uses of ‘least squares’.
k) Name the types of correlation.
)

[) Bringout the meaning regression.
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SECTION-B

Answer any four questions. Each question carries 8 marks. (4x8=32)

2.

Present the following information in a multiple bar diagram.

Year I Class Il Class lll Class Failed
2012-13 100 200 250 300
2013-14 150 250 320 350
2014-15 120 300 380 220

120 students appeared for an examination. The results of those who failed were
given below :

Marks: 05 11 15 19 25 30

No. of students: 05 06 08 07 03 02

If average marks of all the 120 students is 71.6 find out the average marks of
those who have passed.

In a college there were 120 persons, each of whom paid Rs. 25.50 towards flood
relief fund on an average. There were 80 students paid Rs. 28 each. Teaching
staff are charged high contributions. The number of house keeping employees
who are exempted from the contributions are 10 (all men) female members were
25% of the total of which one was a lady staff member. Tabulate the information.

A limited company wants to distribute bonus to its employees as follows :

Monthly BonusinRs.
salary Rs.

100-120 50
120-140 60
140-160 70
160-180 80
180-200 90
200-220 100

220 and above 110

Actual salaries of employees: 200, 180, 195, 218, 187, 160, 250, 198, 190,

168, 170,178,175, 140, 120, 148, 165, 155,
145,125,110, 162, 130, 150, 185

a) What is the total amount of bonus ?
b) What will be the average bonus ?
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6. Find the mean deviation from mean from the following :
IncomeinRs. : 2000 4000 6000 8000 10000
No. of persons: 20 35 50 80 100
SECTION-C
Answer any 3 of the following. Each question carries 16 marks. (3x16=48)
7. Life of 2 brand of tyres tested for their life and following results were obtained.
Life (in months) : 20-25 25-30 30-35 35-40 40-45
No. of Tyre X : 02 20 64 10 03
No. of Tyre Y : 04 21 69 0} 0}
Which brand of tyre you would prefer based on its consistency.
8. Compute the mean and median from the following data :
Mid. Value: 115 125 135 145 155 165 175 185 195
Frequency: 06 25 48 72 116 60 38 2 03
9. Following data relate to the age of Husband and wife :
Age of husbands
in years 25 28 30 32 3B 336 3B 39 42 55
Age of wives
in years 20 26 29 30 25 18 26 35 35 46
Obtain 2 regression equations and determine the most likely age of husbands for
the age of wife 25 years.
10. Compute the Fishers ideal index and show how it satisfies the TRT and FRT.

2012 2014
Commodity Price Value (Rs.) Price Value (Rs.)

Rs. (Price x Quantity) (Rs.) (Price x Quantity)

M 5 50 6

N 7 84 10

O 10 80 12

P 4 20 5

Q 8 56 8

REE3BRN
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1. a) Rom,TRT LY, YVTOSRENNTRO EVR0.
b) 590 TRF 0TI ?
c) éfaeﬁwz%eédsa @@L@dd T LTCAD.
) SNeFTTHRTE LY, YVTBRTTI TROR.
) X =382, M=41.6 535Z =) 30m@0aEcW0.
) 2363 03 R, 080 emwoﬁmﬁr{%fab EPRD.
) ARTBRY Tert S3RTHT ?
h) 23 ©5e0 S Lomdesd 2
i) ST ERTPSTT SVREYTO BFF [ ?
) B 20T LUBOIRENTIFRS SVRO.
) T3 Bersosd ITNTRD LB,
) TIMORT,T [, BRT.
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2. B333NI maoéojaa’% mgw@ 20T TeaTnesB T 068 TR A

R | :22¢ Il 55° 1l 53¢
2012-13 100 200 250
2013-14 150 250 320

2014-15 120 300 380

(10x2=20)

(4x8=32)

e&gm;
(Fo=exf 537°)

300
350
220
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3. 120 T3, HF MY 2,080 ﬁ@egojamot TTTO. £2:30E) LIRS eEIF TR0 ﬁ@@moﬁdﬁg{ 3o
BRLT.
ed
LHOBNLD ! 05 11 15 19 25 30
&'Jcnst;ﬁ?m* ﬁo&% : 05 06 08 o7 03 02
120 é)ma@rmf ATOR0 £208N%071.6 T8 Y03eror T9T3C ATRO @oéﬁ@,ﬁdg{ BOTBEROND.
4. 2.0m e 120 H3NTmT. @@oﬁmg)cb JTIRO TR. 25.50&3{ 33 TOTOT AQPOD
w02 RLTET. FoSetsds 80 LR PFN @8@0&@%& on. 28539{ Salovel ot
%@@i&@gd Spiesptapleveieryt éa&zg ToR Qerguiedow Bre3nTIEE. FURMTTE 10 wSon

(Roc=or) AR Teedrt VTR, DTS BRTBLRNT, 6id) ®ITY, 25% FonOmT,
@dd@m mg)do Spcspinpleve:y ﬁdm;da. z3 @dd%oﬁagﬁg{ %.rae@—-g%eﬁdsa [RGB,

5. 2,080 839N FOTICTN 3@{%&3)0@7? BReSRT ERTEL FF0E0E Dear CIIRST.

Sony owe? Weesss
3R.ned

100-120 50
120-140 60
140-160 70
160-180 80
180-200 90
200-220 100
220 203 110

mgjo@ﬁ ROTIDO3TIONO DO RO BLTOBOST.

Rs. 200, 180, 195, 218, 187, 160, 250, 198, 190, 168, 170, 178, 175, 140, 120,
148, 165, 155, 145, 125, 110, 162, 130, 150, 185.

a) 2.8 BRI RO, ?

b) FToR0 WReRAT RO, ?
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6. B33PNT 0&S0D RTRD wdadoaéow@t@o%ﬁséé RTOROC3 TWAROT FOTD GoGOLD.

e3TT0D 2000 4000 6000 8000 10000
(Sw.ned)
sﬁgme 309% 20 35 50 80 100
QNYIN— 2
BINT CARF)TTTR RO TINET GUgOR. B TITT16 oBned. (3x16=48)

7. QT 230,08 L3030TINY 098 Y030 SEIGHT TOeE 031 HOB203 EENT0IT.

WvF(Sonsdned) : 20-25 25-30 30-35 35-40 40-45
3o XS Ros3, 02 20 64 10 03
Lo Y Ros3, 04 21 69 01 01

O3 239,083 @30536&1 B30 LRYFOR STOE 250085 Qeey) WOTRIEED ?
8. BYNT JRE NS ZTIRO 33083 053,083, FOTIBRCU0 :

mc:gs WS 115 125 1356 145 155 165 175 185 195
S 5035;: 06 25 48 72 116 60 38 2 03

9. $NS A T8 T3 Ve Tyt FowoRITNG,

mo:ooawo:oz'%
(So=NLD) 2 28 30 3R 3B 3B BB I 42 55
5%0330@63030:’%
(So=NeD) 20 26 29 30 25 18 26 35 35 46

@émm%d Nelce! ée%eﬁa: @539{ %odoé@@% TONR 280 AB/LTT BSO300NT dojo:’%
25 dcda%ﬁ w%ﬁ %odo%m%.
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10. 833N TYRO0T BTT STWIF~ AR, 0TBI), FOBRROD. LT Ter Bedd0D O 0D
BOeE(TRT) 302 wimsmsr s modns b Hoed (FRT) rﬁ%ﬁdg{ %@M@mgdowddi SREeDA.

3508 IR 2012 w0 IRF2014
NS Be3(Sw.) I Be3(Sw.) I
M 5 50 6 72
N 7 84 10 80
0 10 80 12 9%
P 4 20 5 30
Q 8 56 8 64




